


H 07} aABC 9] QD o, /x o] 2717

A

B 30

Q

D 15° @ 20° @ 25° @ 30° ®)35°

O 7 AolBER, /x+30°+25°=90°
S /x=35°




3.

thS 104 M O = AABC 9] 9]Alo|t},
/BOC = 140°¥ o}, /BACE t5toia}.

A

140°

Q

o
o

[ 2
> ®eh: 70°

(BAC = /BOC x % = 140 x % =70°







ol H 0 = 4423 ABC 9] 4o]a, H 0 o4 BC

Kol
j=

ot

, OA, OB, OC & Zo|7} 7H% 21

k13
=

o W 5419l %&b

e

QLA T

O
o

® OA

[
<+

o

7}17‘§A,B,Coﬂ]

1
il

BE 2.

1=
—

0 7t &GS SAoln g ZHzte] A
= A

A
o2t




@ 3 ® 4 @)5 ® 6

D 2

1719 ABC 9] 9JAlo|ln g
MC ©]tt.

M2 A4
MA = MB = MC

el

~MC=5




the 2] AZ4zEE ABC oA A 0 7 Hlde] FH ), x O
37| SHH?
_.-6cm- . _

B >A

1

1

ll x

6cm O

@ 70° @ 75° @ 80° @ 85° @W

_--6em- . _
Bv} A
II
1
<
6C1"l’1 0
\
\\
C

AABC & A Zto|- szt
(BCA = /BAC °]1, /B =90° °|B&

(BCA = /BAC = 45°

21 Zt22t AABC 9 A O 7} Bl 9] F3o]|E= AABC 9
Q) Hloltt,

. 0C=0B=0A

AOAB 7} o] 542t o] B2 (- OA = OB)

LOAB = /OBA = 45°

watA LAOB = 90° o]t}

ofl




8. & 1A H 0+ aABC 9| 2J4]o|th./CAO = 40°, /ABO =
25°d o], /BCO 2] 27]=7

@© 22° @ 35° ® 20° @ 30° ®)25°

/ABO + /OAC + zx=90°
S /x=25°




9. o IYoA H O aABCO] Holth LOCB 2] 27]&7?

A
35°

O 20° @ 25° @30° @ 35° ® 40°

LOAC + £OBA + £OCB =90°
. £0CB =90°-35°-25°=30°




10. o5 I90lA A 0 7F A2 ABC 9] dd 1, o5 5 &2 AS
BE 2H?

@ OA =0B © OE = OF
© AB=BC ® AD =CD

@ AE+ OE =BC

6.0 @00 0206 ®6.60 660

0,6, 62 ¢+ it




11. ohZ 27 Zo] A7M7H ABC oA 1 O & aABC 9] @]4joltt.
AB =12cm ¥ o, OC 9] ZAo)& Latoiat,




12. O 04 E M S 1ZHEZH ABC 9 9141017 /C = 36° &
o, 2x o] 2718 Fajolat,

A

36°

O 15° @18° 3@ 20° @ 22° ® 25°

w2bA LACM = /CAM = 36°--- O

T, A7ty o] Wzhe] 32 180° o|B =

LABC = 180° — 90° — 36° = 54° o]t}

/BAH = 180° — ZABC — 90° = 180° — 54° — 90° = 36°--- ©
(A =90° 9|1, /ZHAM = /A — /BAH - /CAM °|E =2

@, ©°l 954 LZHAM = 90° — 36° — 36° = 18°

w2hA] x = 18° o]t}




13. o2 T4 H 0= aABC 2] 9J40]al, /OCB = 40° ¥ o, /BAC

o 27)5 Fahw?

A

BN___C

@s0° @50 @6 @ 65°

® 70°

~&B

AOBCE o|5HAdZAgo|ng
/OBC = /OCB = 40°,
/BOC = 100°

1
AABC A /BAC = §zBOC =50°




14. & JFoA ¥ 0= AABC 9 8 Yol /OCB = 35°< o,
(BAC 9] 37]& FFotofz}.

A

[ 2
> ™eh: 55°

AOBC+ ol sHAZgo|lnz
/OBC = /0CB = 35°
/BOC = 110°

AABC A /BAC = %ZBOC = 55°




